2. Korrekturaufgabenblatt TBxF - Losung

1. Aufgabe (6 Punkte £ 15,0 %)

M =(4-12+10) K9 _5g KO

kmol ™ kmol
8315 J 3
R =—KMOlK 1434~ v
kmol
pV=mR T = V:M v
p
10kg-143,4 - .293K
v kg-K L
94000 Pa

V=44Tm® v

2. Aufgabe (8 Punkte £ 20,0 %)

3

Q1=C-m-A19=O,47kk—JK-O,316 kg-(lSOO—ZO)K:219,8kJ vV
g.

a) Mprane = QV =79 dtrgll -40-10° dm® = 0,316 kg v

Q,=0qs-m :270%-0.316 kg=853k] vV

Q =Q1+Q2
Q=3051kJ v
b) Q.= Qu _ 3051KJ_ 508,5kJ v
n 0,60
Vv zgzwf\ﬂ'\f:o,mss m?
H 325 =

V=156/¢ v



3. Aufgabe (6 Punkte 2 15,0 %)

3

m=p-V =0,85 9 . 450 dm® = 382,5 kg
dm
MJ

Q=H ~m:42k—-382,5 kg=16065MJ Vv
g

W =7-Q=0,3-16065MJ = 4820MJ v/
6
F_W _482010°0
s 1800-10°m

F.=27kN v

4. Aufgabe (5 Punkte £ 12,5 %)

a) R, _R

M

8315 J
R, = kmEI-K

39,95 ~9_

kmol
J
R =208 —— Vv
kg-K

pV=m-R-T
PV _ 200-10°Pa-0,050 m’

RT 208 7 .(273+20)K

kg-K

m=16,4kg Vv

b) pl 'Vl — p2 'V2
T T

1
V2 — pl 'Vl T_2
L P
_ 200bar-0,050m*® 273K
? (273+20)K 1,013 bar

V,=92m® Vv

2

v

v



5. Aufgabe (10 Punkte £ 25,0 %)

F

s
g
~ 0,450N

Holz —
9,811
S

m=

~ 45879 v

0,790N

- -80,53g v
Messing '
9,8122]

I:A
F

A,Messing

F

A,Messing = pWasser ' g V

S
v o_avesng 009N g 585 906 02 _g580cm® v

Puasser 8 1000 K9 .9.81 ™
m S

F

I:M T,Messing

=0,790N-0,696 N=0,094N v

Messing — | Messing

m  80,53¢g

pMessing = V - 9,582 Cms

-840-3_ v

p Messing Cma

F

A,verbunden T,verbunden

Averbunden = 0:450N+0,790N—-0,521IN=0,719N v

F
verbunden — Averbunden 0.719N = 71329 : 1075 m3 =73,29 Cm3

Puasser 8 1000 X9 .9.81M
m S

=F

Messing

+F

Holz

-F

AV =73,29cm?®-9,582cm® =63,71cm® Vv

m 45,879

Proiz =7~ 63,71cm®

7 g
Holz cm’®

6. Aufgabe (5 Punkte £ 12,5 %)

A9=30"C—(-20"C)=50"C250K v
Al=l,-a-A3 v

Al =2500m-12-10° K*.50K vV
Al=15m Vv

v



